dZO'/ d pt,had d mtbar{t} [pb/GeVZ]

Ratio to ATLAS

[HEN
o
R

=
o
e

T

—
S
N

107

[EEY

0.5

13000 GeV pp

tt
[12
- — <
— top ' _ =5
— P (ATLAS semileptonic ttbar) =F:
- 1=
LO
I o
i AN
S
—
3 1
— -
— . mE g :§
— .
= — ™M
- — <
- — ™M
- s
i O
o™
‘.—!
B ATLAS 12
| —A— Pythia 6.428 370 |z
—  --&-- Pythia 6.428 371 El
—  -.¥-- Pythia 6.428 372 B
B --- Pythia 6.428 376 5
[7)]
i 5
o
(@]
- =2
1
B '_‘_'_’_'_'_'_‘_':—_'-:—_'-:-_'.:__'._,____-____T_‘ |
! —0.5
| oy
0 500 1000

ptT,had [GeV], M} in [550,700] [GeV]



	Contents
	Page 1


